P 1A S 4 800 Bol ik Fde] dakae] 5%
il

x4y =800

@{ 5 0.
“100° T 1007 T
x+y =800

@ { 5 100
100"~ 1007 ~
x+y =800

® ¢ 105 LB
“100" " 1007 T
x4y =800

@ {105 0o
100"~ 1007~
x4y =800

@{ 5 0.
“100* T 1000 T



Ke] si7t 2w, aol g2

ol

gx—|—1> 5x_3—|—x, S5x+1<3x+a
@D 23 Q@ 24 3 25 @ 26 B 27




@ 3,4,5,6 ® 4, 5,6

® 6

D12

@ 5,6



rlj

U Ae Bt
e
, sl
T3 A BYFEEZD
»E 747k 5HH
H?

@ A
. Azz, 0), B(0,3) @
,3 "
o s (-2,0), B(0,3)
o b @ A(0,3), B(2,0)



o, ab 9]

SH
=

(a, b) 21

=] =
OHE'.

9

0.3x+ 0.2y =1.2

ol

@ 3 B 6

1



6.

g gro] njata] 27 7]7 ol A
3] 170 B2 1, 2918 HE=

@D 34 @ 4) ® 54



7. 10%9 AFE500g0A A E g9 B8 ZHA7|H B 71 18%
ool £g&Eo| HAE?

@ 22¢ @ 220¢g @ 240¢g

2000 2000
@ ——¢g © ——=¢



T AM 2 —y+4=0, —ax+y-4 =03 x ZO 2 SRl REO]
wol7t 12 4 o, Ad4ra 9] @27 (T, a<0)

@D -5 @ -4 ® -3 @ -2 ® -1



0L % o] &2 et
e 2o FeyL

oA 2 otk 4

200L ©] Eo] 0] A= EF
B2 S EY7] A&Sto] x 2 39 E50l
o, x €ty o] JAA2? (F, 0 < x < 10)
D y=200+40x @ y=200-40x @ y=200+ 20x
- ® y =200 - 80x

@ y =200 - 20x



10. QAES y =20+ b O TANTE y Ho] PO 2 W BholF
SAEY QA4S y = ax + 1 9 TR HT T F a, b O]
Lo $A AX N AL

o

D a=2b=3 @ a=-2,b=3
®a=-2b=-3 @ a=2b=1

® a=2 b=-1



g 1

sy
1

o 3 AZh W=

sy
.

sel gep}

I 7S 30km A

g}

i

11.

o
o N
)
0 I
I -~
Ss|lis|™ T 2
R W
= = on
——— ——
3 _
= o
w P
e e~
:\l/ —
I =~ 4+ =B+
ol |t 2 L2
F®| T 23 =25
R olR ®m A o~




k=i
0ol A
b=
Aax+y

i

ol

B




—ax +by—-4 =09 =7} x Fof =#o]1L

BEREE

APEAT A 4 AFREHES 2 7] 1%t a, b o] 222

D a=0,b>0 @ a<0,b=0 ® a=0,b=0
® a=0,b<0

@ a>0,b=0

Al



14.

e 190 441714 ABCD Ol A AD =
10cm, AB = 8cmo]X, A P A AE &
B]—o}.oq uH}_ Qcmm Z—] BE 6]:0H 07(10]_,_
AUTE xZF T AAPC 9] HolE yem? 2t
< off, x, yAtol o] BAA2Y (H, xo H9l+=
0<x<4)

@ y=2x @ y=4x

@ y=140-10x ® y=10x

A’,—].OCIH~~\\D
Sdn

1

1‘ P

B C
® y=4x+10



15. =Egd Qo vl H A(2, 6), B(2, 3), C(4, 3),D(4, 6)= HA|Ho=
She AbZb o] itk LA y = ax + 1 9] 1|7} o] AMZFE 3}
T & o= o 9] o] Helz 9 A& 11217
@%Sasg @gSasg ® 2<ax<4
@ SSasg ® 3<a<5h



